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NEW QUESTION 1

A clothing company uses a custom ecommerce application and a PostgreSQL database to sell clothes to thousands of users from multiple countries. The company
is migrating its application and database from its on premises data center to the AWS Cloud. The company has selected Amazon EC2 for the application and
Amazon RDS for PostgreSQL for the database. The company requires database passwords to be changed every 60 days. A Database Specialist needs to ensure
that the credentials used by the web application to connect to the database are managed securely.

Which approach should the Database Specialist take to securely manage the database credentials?

A. Store the credentials in a text file in an Amazon S3 bucke

B. Restrict permissions on the bucket to the IAM role associated with the instance profile onl
C. Modify the application to download the text file and retrieve the credentials on start u

D. Update the text file every 60 days.

E. Configure IAM database authentication for the application to connect to the databas

F. Create an IAM user and map it to a separate database user for each ecommerce use
G. Require users to update their passwords every 60 days.

H. Store the credentials in AWS Secrets Manage

I. Restrict permissions on the secret to only the IAM role associated with the instance profil
J. Modify the application to retrieve the credentials from Secrets Manager on start u

K. Configure the rotation interval to 60 days.

L. Store the credentials in an encrypted text file in the application AM

M. Use AWS KMS to store the key fordecrypting the text fil

N. Modify the application to decrypt the text file and retrieve the credentials on start u

O. Update the text file and publish a new AMI every 60 days.

Answer: B

NEW QUESTION 2

A company has deployed an e-commerce web application in a new AWS account. An Amazon RDS for MySQL Multi-AZ DB instance is part of this deployment
with a

database-1.XXXXXXXxxxxx.us-east-1.rds.amazonaws.com endpoint listening on port 3306. The company’s Database Specialist is able to log in to MySQL and run
gueries from the bastion host using these details.

When users try to utilize the application hosted in the AWS account, they are presented with a generic error message. The application servers are logging a “could
not connect to server: Connection times out” error message to Amazon CloudWatch Logs.

What is the cause of this error?

A. The user name and password the application is using are incorrect.

B. The security group assigned to the application servers does not have the necessary rules to allow inbound connections from the DB instance.
C. The security group assigned to the DB instance does not have the necessary rules to allow inbound connections from the application servers.
D. The user name and password are correct, but the user is not authorized to use the DB instance.

Answer: C

NEW QUESTION 3

A company is building a new web platform where user requests trigger an AWS Lambda function that performs an insert into an Amazon Aurora MySQL DB
cluster. Initial tests with less than 10 users on the new platform yielded successful execution and fast response times. However, upon more extensive tests with the
actual target of 3,000 concurrent users, Lambda functions are unable to connect to the DB cluster and receive too many connections errors.

Which of the following will resolve this issue?

A. Edit the my.cnf file for the DB cluster to increase max_connections
B. Increase the instance size of the DB cluster

C. Change the DB cluster to Multi-AZ

D. Increase the number of Aurora Replicas

Answer: B

NEW QUESTION 4

A Database Specialist is troubleshooting an application connection failure on an Amazon Aurora DB cluster with multiple Aurora Replicas that had been running
with no issues for the past 2 months. The connection failure lasted for 5 minutes and corrected itself after that. The Database Specialist reviewed the Amazon RDS
events and determined a failover event occurred at that time. The failover process took around 15 seconds to complete.

What is the MOST likely cause of the 5-minute connection outage?

A. After a database crash, Aurora needed to replay the redo log from the last database checkpoint
B. The client-side application is caching the DNS data and its TTL is set too high

C. After failover, the Aurora DB cluster needs time to warm up before accepting client connections
D. There were no active Aurora Replicas in the Aurora DB cluster

Answer: C

NEW QUESTION 5

An AWS CloudFormation stack that included an Amazon RDS DB instance was accidentally deleted and recent data was lost. A Database Specialist needs to add
RDS settings to the CloudFormation template to reduce the chance of accidental instance data loss in the future.

Which settings will meet this requirement? (Choose three.)

A. Set DeletionProtection to True

B. Set MultiAZ to True

C. Set TerminationProtection to True

D. Set DeleteAutomatedBackups to False
E. Set DeletionPolicy to Delete
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F. Set DeletionPolicy to Retain

Answer: ACF

NEW QUESTION 6

A company has a production Amazon Aurora Db cluster that serves both online transaction processing (OLTP) transactions and compute-intensive reports. The
reports run for 10% of the total cluster uptime while the OLTP transactions run all the time. The company has benchmarked its workload and determined that a six-
node Aurora DB cluster is appropriate for the peak workload.

The company is now looking at cutting costs for this DB cluster, but needs to have a sufficient number of nodes in the cluster to support the workload at different
times. The workload has not changed since the previous benchmarking exercise.

How can a Database Specialist address these requirements with minimal user involvement?

A. Split up the DB cluster into two different clusters: one for OLTP and the other for reportin

B. Monitor and set up replication between the two clusters to keep data consistent.

C. Review all evaluate the peak combined workloa

D. Ensure that utilization of the DB cluster node is at an acceptable leve

E. Adjust the number of instances, if necessary.

F. Use the stop cluster functionality to stop all the nodes of the DB cluster during times of minimal workloa
G. The cluster can be restarted again depending on the workload at the time.

H. Set up automatic scaling on the DB cluste

I. This will allow the number of reader nodes to adjust automatically to the reporting workload, when needed.

Answer: D

NEW QUESTION 7

An IT consulting company wants to reduce costs when operating its development environment databases. The company’s workflow creates multiple Amazon
Aurora MySQL DB clusters for each development group. The Aurora DB clusters are only used for 8 hours a day. The DB clusters can then be deleted at the end
of the development cycle, which lasts 2 weeks.

Which of the following provides the MOST cost-effective solution?

. Use AWS CloudFormation template
. Deploy a stack with the DB cluster for each development group.Delete the stack at the end of the development cycle.
. Use the Aurora DB cloning featur
. Deploy a single development and test Aurora DB instance, and createclone instances for the development group
. Delete the clones at the end of the development cycle.
Use Aurora Replica
. From the master automatic pause compute capacity option, create replicas for eachdevelopment group, and promote each replica to maste
. Delete the replicas at the end of the developmentcycle.
I. Use Aurora Serverles
J. Restore current Aurora snapshot and deploy to a serverless cluster for eachdevelopment grou
K. Enable the option to pause the compute capacity on the cluster and set an appropriatetimeout.

IOTMmoO >

Answer: D

NEW QUESTION 8

A gaming company is designing a mobile gaming app that will be accessed by many users across the globe. The company wants to have replication and full
support for multi-master writes. The company also wants to ensure low latency and consistent performance for app users.

Which solution meets these requirements?

A. Use Amazon DynamoDB global tables for storage and enable DynamoDB automatic scaling
B. Use Amazon Aurora for storage and enable cross-Region Aurora Replicas

C. Use Amazon Aurora for storage and cache the user content with Amazon ElastiCache

D. Use Amazon Neptune for storage

Answer: A

NEW QUESTION 9

A company maintains several databases using Amazon RDS for MySQL and PostgreSQL. Each RDS database generates log files with retention periods set to
their default values. The company has now mandated that database logs be maintained for up to 90 days in a centralized repository to facilitate real-time and after-
the-fact analyses.

What should a Database Specialist do to meet these requirements with minimal effort?

A. Create an AWS Lambda function to pull logs from the RDS databases and consolidate the log files in an Amazon S3 bucke

B. Set a lifecycle policy to expire the objects after 90 days.

C. Modify the RDS databases to publish log to Amazon CloudWatch Log

D. Change the log retention policy for each log group to expire the events after 90 days.

E. Write a stored procedure in each RDS database to download the logs and consolidate the log files in an Amazon S3 bucke

F. Set a lifecycle policy to expire the objects after 90 days.

G. Create an AWS Lambda function to download the logs from the RDS databases and publish the logs to Amazon CloudWatch Log
H. Change the log retention policy for the log group to expire the events after 90 days.

Answer: A

NEW QUESTION 10

A Database Specialist is creating a new Amazon Neptune DB cluster, and is attempting to load fata from Amazon S3 into the Neptune DB cluster using the
Neptune bulk loader API. The Database Specialist receives the following error:

“Unable to connect to s3 endpoint. Provided source = s3://mybucket/graphdata/ and region = us-east-1. Please verify your S3 configuration.”

Which combination of actions should the Database Specialist take to troubleshoot the problem? (Choose two.)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy DBS-C01 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/DBS-C01/ (198 New Questions)

A. Check that Amazon S3 has an IAM role granting read access to Neptune

B. Check that an Amazon S3 VPC endpoint exists

C. Check that a Neptune VPC endpoint exists

D. Check that Amazon EC2 has an IAM role granting read access to Amazon S3
E. Check that Neptune has an IAM role granting read access to Amazon S3

Answer: BD

NEW QUESTION 10

A gaming company has recently acquired a successful iOS game, which is particularly popular during theholiday season. The company has decided to add a
leaderboard to the game that uses Amazon DynamoDB.The application load is expected to ramp up over the holiday season.

Which solution will meet these requirements at the lowest cost?

A. DynamoDB Streams

B. DynamoDB with DynamoDB Accelerator

C. DynamoDB with on-demand capacity mode

D. DynamoDB with provisioned capacity mode with Auto Scaling

Answer: C

NEW QUESTION 11
An online gaming company is planning to launch a new game with Amazon DynamoDB as its data store. The database should be designated to support the
following use cases:

Update scores in real time whenever a player is playing the game.

Retrieve a player's score details for a specific game session.

A Database Specialist decides to implement a DynamoDB table. Each player has a unique user_id and each game has a unique game_id.
Which choice of keys is recommended for the DynamoDB table?

A. Create a global secondary index with game_id as the partition key

B. Create a global secondary index with user_id as the partition key

C. Create a composite primary key with game_id as the partition key and user_id as the sort key
D. Create a composite primary key with user_id as the partition key and game_id as the sort key

Answer: B

NEW QUESTION 15

A Database Specialist is setting up a new Amazon Aurora DB cluster with one primary instance and three Aurora Replicas for a highly intensive, business-critical
application. The Aurora DB cluster has one mediumsized primary instance, one large-sized replica, and two medium sized replicas. The Database Specialist did
not assign a promotion tier to the replicas.

In the event of a primary failure, what will occur?

A. Aurora will promote an Aurora Replica that is of the same size as the primary instance
B. Aurora will promote an arbitrary Aurora Replica

C. Aurora will promote the largest-sized Aurora Replica

D. Aurora will not promote an Aurora Replica

Answer: A

NEW QUESTION 19

A global digital advertising company captures browsing metadata to contextually display relevant images,pages, and links to targeted users. A single page load
can generate multiple events that need to be storedindividually. The maximum size of an event is 200 KB and the average size is 10 KB. Each page load
mustquery the user’s browsing history to provide targeting recommendations. The advertising company expectsover 1 billion page visits per day from users in the
United States, Europe, Hong Kong, and India. The structureof the metadata varies depending on the event. Additionally, the browsing metadata must be written
and readwith very low latency to ensure a good viewing experience for the users.

Which database solution meets these requirements?

A. Amazon DocumentDB

B. Amazon RDS Multi-AZ deployment
C. Amazon DynamoDB global table
D. Amazon Aurora Global Database

Answer: C

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy DBS-C01 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/DBS-C01/ (198 New Questions)

NEW QUESTION 22

A financial company wants to store sensitive user data in an Amazon Aurora PostgreSQL DB cluster. The database will be accessed by multiple applications
across the company. The company has mandated that all communications to the database be encrypted and the server identity must be validated. Any non-SSL-
based connections should be disallowed access to the database.

Which solution addresses these requirements?

. Set the rds.force_ssl=0 parameter in DB parameter group
. Download and use the Amazon RDS certificatebundle and configure the PostgreSQL connection string with ssimode=allow.
. Set the rds.force_ssl=1 parameter in DB parameter group
. Download and use the Amazon RDS certificatebundle and configure the PostgreSQL connection string with ssimode=disable.
. Set the rds.force_ssI=0 parameter in DB parameter group
Download and use the Amazon RDS certificatebundle and configure the PostgreSQL connection string with ssimode=verify-ca.
. Set the rds.force_ssl=1 parameter in DB parameter group
. Download and use the Amazon RDS certificatebundle and configure the PostgreSQL connection string with ssimode=verify-full.

ITOTMMmMOO®>

Answer: D

NEW QUESTION 23

A company is deploying a solution in Amazon Aurora by migrating from an on-premises system. The IT department has established an AWS Direct Connect link
from the company’s data center. The company’s Database Specialist has selected the option to require SSL/TLS for connectivity to prevent plaintext data from
being set over the network. The migration appears to be working successfully, and the data can be queried from a desktop machine.

Two Data Analysts have been asked to query and validate the data in the new Aurora DB cluster. Both Analysts are unable to connect to Aurora. Their user names
and passwords have been verified as valid and

the Database Specialist can connect to the DB cluster using their accounts. The Database Specialist also verified that the security group configuration allows
network from all corporate IP addresses.

What should the Database Specialist do to correct the Data Analysts’ inability to connect?

A. Restart the DB cluster to apply the SSL change.

B. Instruct the Data Analysts to download the root certificate and use the SSL certificate on the connection string to connect.

C. Add explicit mappings between the Data Analysts’ IP addresses and the instance in the security groupassigned to the DB cluster.
D. Modify the Data Analysts’ local client firewall to allow network traffic to AWS.

Answer: D

NEW QUESTION 28

A retail company with its main office in New York and another office in Tokyo plans to build a database solution on AWS. The company’s main workload consists
of a mission-critical application that updates its application data in a data store. The team at the Tokyo office is building dashboards with complex analytical queries
using the application data. The dashboards will be used to make buying decisions, so they need to have access to the application data in less than 1 second.
Which solution meets these requirements?

A. Use an Amazon RDS DB instance deployed in the us-east-1 Region with a read replica instance in the apnortheast-1 Regio

B. Create an Amazon ElastiCache cluster in the ap-northeast-1 Region to cacheapplication data from the replica to generate the dashboards.
C. Use an Amazon DynamoDB global table in the us-east-1 Region with replication into the ap-northeast-1Regio

D. Use Amazon QuickSight for displaying dashboard results.

E. Use an Amazon RDS for MySQL DB instance deployed in the us-east-1 Region with a read replicainstance in the ap-northeast-1 Regio

F. Have the dashboard application read from the read replica.

G. Use an Amazon Aurora global databas

H. Deploy the writer instance in the us-east-1 Region and the replicain the ap-northeast-1 Regio

I. Have the dashboard application read from the replica ap-northeast-1 Region.

Answer: D

NEW QUESTION 32

A Database Specialist is performing a proof of concept with Amazon Aurora using a small instance to confirm a simple database behavior. When loading a large
dataset and creating the index, the Database Specialist encounters the following error message from Aurora:

ERROR: cloud not write block 7507718 of temporary file: No space left on device

What is the cause of this error and what should the Database Specialist do to resolve this issue?

A. The scaling of Aurora storage cannot catch up with the data loadin

B. The Database Specialist needs tomodify the workload to load the data slowly.
C. The scaling of Aurora storage cannot catch up with the data loadin

D. The Database Specialist needs toenable Aurora storage scaling.

E. The local storage used to store temporary tables is ful

F. The Database Specialist needs to scale up theinstance.

G. The local storage used to store temporary tables is ful

H. The Database Specialist needs to enable localstorage scaling.

Answer: C

NEW QUESTION 33

A company is developing a multi-tier web application hosted on AWS using Amazon Aurora as the database.

The application needs to be deployed to production and other non-production environments. A Database Specialist needs to specify different MasterUsername and
MasterUserPassword properties in the AWS CloudFormation templates used for automated deployment. The CloudFormation templates are version controlled in
the company'’s code repository. The company also needs to meet compliance requirement by routinely rotating its database master password for production.

What is most secure solution to store the master password?

A. Store the master password in a parameter file in each environmen

B. Reference the environment-specific parameter file in the CloudFormation template.
C. Encrypt the master password using an AWS KMS ke
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D. Store the encrypted master password in theCloudFormation template.
E. Use the secretsmanager dynamic reference to retrieve the master password stored in AWS SecretsManager and enable automatic rotation.
F. Use the ssm dynamic reference to retrieve the master password stored in the AWS Systems ManagerParameter Store and enable automatic rotation.

Answer: C

NEW QUESTION 36

A company has a database monitoring solution that uses Amazon CloudWatch for its Amazon RDS for SQL Server environment. The cause of a recent spike in
CPU utilization was not determined using the standard metrics that were collected. The CPU spike caused the application to perform poorly, impacting users. A
Database Specialist needs to determine what caused the CPU spike.

Which combination of steps should be taken to provide more visibility into the processes and queries running during an increase in CPU load? (Choose two.)

A. Enable Amazon CloudWatch Events and view the incoming T-SQL statements causing the CPU to spike.

B. Enable Enhanced Monitoring metrics to view CPU utilization at the RDS SQL Server DB instance level.

C. Implement a caching layer to help with repeated queries on the RDS SQL Server DB instance.

D. Use Amazon QuickSight to view the SQL statement being run.

E. Enable Amazon RDS Performance Insights to view the database load and filter the load by waits, SQLstatements, hosts, or users.

Answer: BE

NEW QUESTION 39

A company wants to migrate its existing on-premises Oracle database to Amazon Aurora PostgreSQL. The migration must be completed with minimal downtime
using AWS DMS. A Database Specialist must validate that the data was migrated accurately from the source to the target before the cutover. The migration must
have minimal impact on the performance of the source database.

Which approach will MOST effectively meet these requirements?

A. Use the AWS Schema Conversion Tool (AWS SCT) to convert source Oracle database schemas to the target Aurora DB cluste

B. Verify the datatype of the columns.

C. Use the table metrics of the AWS DMS task created for migrating the data to verify the statistics for the tables being migrated and to verify that the data
definition language (DDL) statements are completed.

D. Enable the AWS Schema Conversion Tool (AWS SCT) premigration validation and review the premigrationchecklist to make sure there are no issues with the
conversion.

E. Enable AWS DMS data validation on the task so the AWS DMS task compares the source and targetrecords, and reports any mismatches.

Answer: D

NEW QUESTION 42

A company is using Amazon RDS for MySQL to redesign its business application. A Database Specialist has noticed that the Development team is restoring their
MySQL database multiple times a day when Developers make mistakes in their schema updates. The Developers sometimes need to wait hours to the restores to
complete.

Multiple team members are working on the project, making it difficult to find the correct restore point for each mistake.

Which approach should the Database Specialist take to reduce downtime?

A. Deploy multiple read replicas and have the team members make changes to separate replica instances
B. Migrate to Amazon RDS for SQL Server, take a snapshot, and restore from the snapshot

C. Migrate to Amazon Aurora MySQL and enable the Aurora Backtrack feature

D. Enable the Amazon RDS for MySQL Backtrack feature

Answer: A

NEW QUESTION 44

A company is going to use an Amazon Aurora PostgreSQL DB cluster for an application backend. The DB cluster contains some tables with sensitive data. A
Database Specialist needs to control the access privileges at the table level.

How can the Database Specialist meet these requirements?

A. Use AWS IAM database authentication and restrict access to the tables using an 1AM policy.

B. Configure the rules in a NACL to restrict outbound traffic from the Aurora DB cluster.

C. Execute GRANT and REVOKE commands that restrict access to the tables containing sensitive data.
D. Define access privileges to the tables containing sensitive data in the pg_hba.conf file.

Answer: C

NEW QUESTION 49

A company is running a two-tier ecommerce application in one AWS account. The web server is deployed using an Amazon RDS for MySQL Multi-AZ DB
instance. A Developer mistakenly deleted the database in the production environment. The database has been restored, but this resulted in hours of downtime and
lost revenue.

Which combination of changes in existing IAM policies should a Database Specialist make to prevent an error like this from happening in the future? (Choose
three.)

A. Grant least privilege to groups, users, and roles

B. Allow all users to restore a database from a backup that will reduce the overall downtime to restore thedatabase
C. Enable multi-factor authentication for sensitive operations to access sensitive resources and APloperations

D. Use policy conditions to restrict access to selective IP addresses

E. Use AccessList Controls policy type to restrict users for database instance deletion

F. Enable AWS CloudTrail logging and Enhanced Monitoring

Answer: ACD
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NEW QUESTION 50

A company is about to launch a new product, and test databases must be re-created from production data. The company runs its production databases on an
Amazon Aurora MySQL DB cluster. A Database Specialist needs to deploy a solution to create these test databases as quickly as possible with the least amount
of administrative effort.

What should the Database Specialist do to meet these requirements?

A. Restore a snapshot from the production cluster into test clusters

B. Create logical dumps of the production cluster and restore them into new test clusters
C. Use database cloning to create clones of the production cluster

D. Add an additional read replica to the production cluster and use that node for testing

Answer: D

NEW QUESTION 52

A financial company has allocated an Amazon RDS MariaDB DB instance with large storage capacity to accommodate migration efforts. Post-migration, the
company purged unwanted data from the instance. The company now want to downsize storage to save money. The solution must have the least impact on
production and near-zero downtime.

Which solution would meet these requirements?

A. Create a snapshot of the old databases and restore the snapshot with the required storage

B. Create a new RDS DB instance with the required storage and move the databases from the old instancesto the new instance using AWS DMS
C. Create a new database using native backup and restore

D. Create a new read replica and make it the primary by terminating the existing primary

Answer: A

NEW QUESTION 55

A Database Specialist needs to speed up any failover that might occur on an Amazon Aurora PostgreSQL DB cluster. The Aurora DB cluster currently includes the
primary instance and three Aurora Replicas.

How can the Database Specialist ensure that failovers occur with the least amount of downtime for the application?

A. Set the TCP keepalive parameters low

B. Call the AWS CLI failover-db-cluster command

C. Enable Enhanced Monitoring on the DB cluster
D. Start a database activity stream on the DB cluster

Answer: B

NEW QUESTION 60

A Database Specialist has migrated an on-premises Oracle database to Amazon Aurora PostgreSQL. The schema and the data have been migrated successfully.
The on-premises database server was also being used to run database maintenance cron jobs written in Python to perform tasks including data purging and
generating data exports. The logs for these jobs show that, most of the time, the jobs completed within 5 minutes, but a few jobs took up to 10 minutes to
complete. These maintenance jobs need to be set up for Aurora PostgreSQL.

How can the Database Specialist schedule these jobs so the setup requires minimal maintenance and provides high availability?

A. Create cron jobs on an Amazon EC2 instance to run the maintenance jobs following the required schedule.

B. Connect to the Aurora host and create cron jobs to run the maintenance jobs following the requiredschedule.

C. Create AWS Lambda functions to run the maintenance jobs and schedule them with Amazon CloudWatchEvents.
D. Create the maintenance job using the Amazon CloudWatch job scheduling plugin.

Answer: D

NEW QUESTION 62

A company needs a data warehouse solution that keeps data in a consistent, highly structured format. The company requires fast responses for end-user queries
when looking at data from the current year, and users must have access to the full 15-year dataset, when needed. This solution also needs to handle a fluctuating
number incoming queries. Storage costs for the 100 TB of data must be kept low. Which solution meets these requirements?

A. Leverage an Amazon Redshift data warehouse solution using a dense storage instance type while keeping all the data on local Amazon Redshift storag
B. Provision enough instances to support high demand.

C. Leverage an Amazon Redshift data warehouse solution using a dense storage instance to store the most recent dat
D. Keep historical data on Amazon S3 and access it using the Amazon Redshift Spectrum laye

E. Provision enough instances to support high demand.

F. Leverage an Amazon Redshift data warehouse solution using a dense storage instance to store the most recent dat
G. Keep historical data on Amazon S3 and access it using the Amazon Redshift Spectrum laye

H. Enable Amazon Redshift Concurrency Scaling.

I. Leverage an Amazon Redshift data warehouse solution using a dense storage instance to store the most recent dat
J. Keep historical data on Amazon S3 and access it using the Amazon Redshift Spectrum laye

K. Leverage Amazon Redshift elastic resize.

Answer: C

NEW QUESTION 67

A gaming company has implemented a leaderboard in AWS using a Sorted Set data structure within Amazon ElastiCache for Redis. The ElastiCache cluster has
been deployed with cluster mode disabled and has a replication group deployed with two additional replicas. The company is planning for a worldwide gaming
event and is anticipating a higher write load than what the current cluster can handle.

Which method should a Database Specialist use to scale the ElastiCache cluster ahead of the upcoming event?

A. Enable cluster mode on the existing ElastiCache cluster and configure separate shards for the Sorted Setacross all nodes in the cluster.
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B. Increase the size of the ElastiCache cluster nodes to a larger instance size.
C. Create an additional ElastiCache cluster and load-balance traffic between the two clusters.
D. Use the EXPIRE command and set a higher time to live (TTL) after each call to increment a given key.

Answer: B

NEW QUESTION 72

An Amazon RDS EBS-optimized instance with Provisioned IOPS (PIOPS) storage is using less than half of its allocated IOPS over the course of several hours
under constant load. The RDS instance exhibits multi-second read and write latency, and uses all of its maximum bandwidth for read throughput, yet the instance
uses less than half of its CPU and RAM resources.

What should a Database Specialist do in this situation to increase performance and return latency to sub-second levels?

A. Increase the size of the DB instance storage

B. Change the underlying EBS storage type to General Purpose SSD (gp2)

C. Disable EBS optimization on the DB instance

D. Change the DB instance to an instance class with a higher maximum bandwidth

Answer: B

NEW QUESTION 73

A company is using an Amazon Aurora PostgreSQL DB cluster with an xlarge primary instance master and two large Aurora Replicas for high availability and read-
only workload scaling. A failover event occurs and application performance is poor for several minutes. During this time, application servers in all Availability Zones
are healthy and responding normally.

What should the company do to eliminate this application performance issue?

A. Configure both of the Aurora Replicas to the same instance class as the primary DB instance.Enablecache coherence on the DB cluster, set the primary DB
instance failover priority to tier-0, and assign afailover priority of tier-1 to the replicas.

B. Deploy an AWS Lambda function that calls the DescribeDBInstances action to establish which instancehas failed, and then use the PromoteReadReplica
operation to promote one Aurora Replica to be theprimary DB instanc

C. Configure an Amazon RDS event subscription to send a notification to an AmazonSNS topic to which the Lambda function is subscribed.

D. Configure one Aurora Replica to have the same instance class as the primary DB instance.ImplementAurora PostgreSQL DB cluster cache managemen

E. Set the failover priority to tier-0 for the primary DBinstance and one replica with the same instance clas

F. Set the failover priority to tier-1 for the otherreplicas.

G. Configure both Aurora Replicas to have the same instance class as the primary DB instance.ImplementAurora PostgreSQL DB cluster cache managemen
H. Set the failover priority to tier-0 for the primary DBinstance and to tier-1 for the replicas.

Answer: D

NEW QUESTION 78

A financial services company is developing a shared data service that supports different applications from throughout the company. A Database Specialist
designed a solution to leverage Amazon ElastiCache for Redis with cluster mode enabled to enhance performance and scalability. The cluster is configured to
listen on port 6379.

Which combination of steps should the Database Specialist take to secure the cache data and protect it from unauthorized access? (Choose three.)

A. Enable in-transit and at-rest encryption on the ElastiCache cluster.

B. Ensure that Amazon CloudWatch metrics are configured in the ElastiCache cluster.

C. Ensure the security group for the ElastiCache cluster allows all inbound traffic from itself and inbound traffic on TCP port 6379 from trusted clients only.

D. Create an IAM policy to allow the application service roles to access all ElastiCache API actions.

E. Ensure the security group for the ElastiCache clients authorize inbound TCP port 6379 and port 22 traffic from the trusted ElastiCache cluster’s security group.
F. Ensure the cluster is created with the auth-token parameter and that the parameter is used in all subsequent commands.

Answer: ABE

NEW QUESTION 81

A company runs online transaction processing (OLTP) workloads on an Amazon RDS for PostgreSQL

Multi-AZ DB instance. Tests were run on the database after work hours, which generated additional database logs. The free storage of the RDS DB instance is low
due to these additional logs.

What should the company do to address this space constraint issue?

A. Log in to the host and run the rm $PGDATA/pg_logs/* command

B. Modify the rds.log_retention_period parameter to 1440 and wait up to 24 hours for database logs to bedeleted
C. Create a ticket with AWS Support to have the logs deleted

D. Run the SELECT rds_rotate_error_log() stored procedure to rotate the logs

Answer: B

NEW QUESTION 82

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy DBS-C01 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/DBS-C01/ (198 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual DBS-C01 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the DBS-
CO01 Product From:

https:/lwww.2passeasy.com/dumps/DBS-C01/

Money Back Guarantee

DBS-CO01 Practice Exam Features;

* DBS-CO01 Questions and Answers Updated Frequently
* DBS-CO1 Practice Questions Verified by Expert Senior Certified Staff
* DBS-C01 Most Realistic Questions that Guarantee you a Passon Y our FirstTry

* DBS-CO1 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

